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Define the variables:




Write the constraints:



Write the objective function:
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Find the coordinates of intercepts and intersections:

(0, 0), (0, 5), (3, 2), (4, 0)

Evaluate the objective function at each vertex:

Answer the question with a complete sentence:
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The baker should make 3 trays of corn muffins















and 2 trays of bran muffins for a maximum profit















of $13.
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Define the variables:




Write the constraints:



Write the objective function:
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Find the coordinates of intercepts and intersections:

(10, 0), (7, 15), (12, 0)
Evaluate the objective function at each vertex:

Answer the question with a complete sentence:
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The class should take 7 buses and 15 vans for a 















minimum cost of $9,900.
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Define the variables:




Write the constraints:



Write the objective function:
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Find the coordinates of intercepts and intersections:
(0, 0), (0, 480), (480, 240), (840, 0)

Evaluate the objective function at each vertex:


Answer the question with a complete sentence:

[image: image26.wmf](

)

(

)

(

)

(

)

(

)

(

)

(

)

(

)

650030000

65003005015,000

650303003028,500

65070300045,500

+=

+=

+=

+=
















The company should produce 480 two-person
















boats and 240 four-person boats for a maximum

profit of $21,600 per month.
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Define the variables:




Write the constraints:



Write the objective function:
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Find the coordinates of intercepts and intersections:

(0, 0), (0, 50), (30, 30), (70, 0)
Evaluate the objective function at each vertex:

Answer the question with a complete sentence:
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The city should plant 70 spruce trees and 0 maple















trees in order to absorb a maximum of 45,500 lbs of















carbon dioxide.
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Define the variables:




Write the constraints:



Write the objective function:
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Find the coordinates of intercepts and intersections:

(0, 0), (0, 14), (6, 12), (12, 8), (20, 0)
Evaluate the objective function at each vertex:


Answer the question with a complete sentence:
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The fast-food chain should build 6 drive-
















through restaurants and 12 full-service 















restaurants for a maximum revenue of
















$7,200,000.
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Define the variables:




Write the constraints:



Write the objective function:
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Find the coordinates of intercepts and intersections:

(0, 44), (0, 48), (8,28), (64,0), (192, 0)
Evaluate the objective function at each vertex:

Answer the question with a complete sentence:
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The lab technician should mix 8 oz of food A with















28 oz of food B for a minimum cost of $2.36.
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